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QUESTION 1

Which of the following NSA networking statement are correct?
A. deployment based on legacy 4G networks

B. requiring continues coverage provide by 5G base stations
C. capable of provisioning new services such as URLLC

D. low investment in the initial phase of 5G deployment

Correct Answer: C

QUESTION 2

Using a 5G-based transmission line inspection drone can extend the inspection range to several kilometers away.

A. True
B. False

Correct Answer: B

QUESTION 3

Which of the following loV application scenarios con be implement by 5G-V2X?
A. in vehicle infotainment (1VI1)

B. Visualized traffic operation and scheduling

C. door-to-door traffic information service

D. vehicle-road coordination

Correct Answer: ABD

QUESTION 4

Which of following coding schemes is predominantly used for traffic channel in 5G?
A. palor code

B. turbo coding

C. convolutional code

D.LDPC
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Correct Answer: D

QUESTION 5

Which ogf the following is the ideal rate of reliability for cooperative automated driving?
A. 0.999%

B. 0.999999%

C. 0.9999%

D. 0.99999%

Correct Answer: D
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